	4N6
	Associative Properties of multiplication


1)  Which number sentence below shows the associative property of (3 x 5) x 2 =
a) 2 + (3 x 5)

b) 2 x (3 x 5) 

c) (2 x 3 ) x 5 

d) (2 x 3 ) + 5

2)  Which number sentence below shows the associative property of 6 x (2 x 3) =  

a) 6 x 2 x 3 

b) (6 x 2 ) x 3

c) (2 x 3 ) x 6

d) (2 x 3 ) + 6

3)  The associative property of 9 x (2 x 3) = 

a) 9 x 2 x 3

b) 2 x 3 x 9 

c) (9 x 3) + 2
d) (9 x 2 ) x 3

Fill in the blank 

4)  The associative property means that  when we change the groupings of
 factors, the product ______________________________________________

5)  Write the associative property of 8 x ( 2 x 5) 

______________________________________________________________

